i

i Frafia gt st v A 8

8 =l o

(A) e st

(B) U 3y 3yegad

(C) A= e

(D) Brew 319 sreagA
3. wEnfa sfins

(A) Faa FFmTH 2

(B) Fa& I 2

(C) ﬂﬁﬁmﬂ(m
(D) 3ere | Fuifea g )J

4. TFafeias & @t 6 S -d e
fasnl & fem 3 fafFem @ fgedt 2 7
(A) fEwmEmEs
(B) A=rfa=
(C) =afFrea
(D) wErTEEE

5. oIF 99A Frew 1 At Teare
& faufon & o e s ey |
(A) FFR F wfie
(B) FTdgH il waa/veEa
(C) FIdam F amr=fram
(D) Frdsn #i ydhua ygm

Vw uﬁmuamamw%

. Ahunter continuous to huntavmh"'

absence of lnairumanta!
This: stgtemam is an mmpln of
\(AY Primitive drive

{8) Tension reduction model
(C) Biological goals
(8) Functional autonomy

If the experimenter and subjects, both
are not aware of the experimental and
control groups, it is called
(A) Hypothesis testing
(B) Single blind study
(C) Random study
2] Double blind study

Achievement motivation is

{A) Oniy cognitive

(B) Only mechanistic

(C)_Partially cognitive and partially

nechanistic
(ng:termined by arousal

Which of the following specialities in
psychology deal with diagnosis and
treatment of disorders ?

(A) Developmental

(BY Clinical

(C) Personality

(D) Experimental

Every selection programme must be
investigated to determine

(A) Stability of programme

(B) Consistency of programme

(C) Generalisability of programme

(DY Predictive accuracy of
programme


User
Stamp

User
Stamp


.

E’ﬁﬁﬂﬁ%’ﬁﬂﬁ &for fergr
gttt fraA e an ?

- e (B) wrEdvz
(o) H (D) ¥t

g, afam-amfeE it SfEeE A
” & GuTE T R |
(A =@ & T g o R
T WATE
(B) =afa & fagm 0
(C) r@aa sfFEaH! %1 fawm
(D) =fa &1 HHIF L9 §ed

10. wgwfes-wfa &1 ga -
i 1§ 4 gfaee &t 2 |
(A) Bferega qarearE
(B) mmﬁrasr@farm
(C) Tag qET=ATE
(D) v qE A

’..'.l-

10.

(D) Two-factor theory

Who propounded filter atten uation
theary of aﬂéntinn ?
(A) Treismann

(C) Moore

(B) Bradvent
(P} Sherry

Bio-social definition equates personality

to the

(. fforts of adjustment carried out
by the individual

(B) Specific qualities of the
individual

(C) Pattern of discrele responses

(D) Social stimulus value of the
individual

Information in short-term memory
enters long-term memory through
(A) Elaborative rehearsal

(B) Simultaneous rehearsal

(C) Maintenance rehearsal

{Dj Sequential rehearsal

PG-14/B



13.

14.

PG-14/B

d(

srFf-gevf # 99% A & AR ot
) s -geyfh % weadiwm % o
fapm wrez w1 3vam fm s 2 7

(A) srgfa fmm

(B) wrpha #&d

(C) Ffa smrE

(D) sHfa wafi

[

12.  On the basis of whose work factor

\[AY Spearman

(D) Neuro-biological approach

theory approach to intelligence was
developed ? '

(B) Jensen
(C) Piaget (D) Wechsler

Which of the following depicts the
difference between episodic and
semantic memory ?

(A) Information that cannot be
expressed verbally

(B) Source monitoring
(C) Reality monitoring
1B Activity of different brain regions

14. Which term is used for perception

of same figure-ground even after

separation of figure-ground ?

(A) Figural continuity

\_{BY Figural constancy

(C) Figural persistency
(D) Figural stability



0 o A
,mh-thé 3t TR

16. “Atter

(A) Seleciive attention

* (B) Division of attention’
| £ .:‘_J a b Mtgﬂanca
(D) ST 1 A=A | | D) Fluctuation of attention
iy -
o e e % o A v o fidww | 17, Guidelines for counselling and
i guidance of each of the school
. # L stages are given in
ll (A) TrZTE TTS=IRH il (v s, A Aational Curriculum Framework
r‘ (NCF, 2005)
2005) (B) National Curriculum Framewor
' (B) = e =1 LT YIGTHA @ for School Education (NCFSE,
2000)
(W.Eﬁ.tfﬁlﬂ-i, 2000) (C) National Programme of Action
‘- ol T FEEH, 1992 1992
(© e (D) National Policy of Education,
(D) faye 1 g Aifd, 1986 1986

PG-1



(C) =fama swar 2
(D) i F7 & v & PR

R :
a3 1 Hirea 77 3w BA W A
T I w1 ged b |

(A) ST 12

(B) #HTEEE HAAE

(C) w3 AT

(D) Sfaw =t

22. ve va ¥ fafead v e ge aadi & |
ug FuA frefig = @
(A) Ture = g
(B) fa=awan = fram
(C) wfruafda = faam
(D) BT HvEH & fam

2

22)

(C) Gradual solution rule

(D) Mechanical skills

In which year third revision of Binet-
Simon scale was published ?

(A) 1950 (B) 1960

(C) 1954 Py 1937

In specific terms job analysis

describes

(A) Personal characteristics

(B) Nature and component of tasks

(C) Personal requirements

-iﬁﬁackage of skills applicable to
different jobs

Which of the drive is depicted in the
following statement ?

“Individuals experiencing monotony in
life seek exciting stimuli®.

(A) Exploratory drive

(B) Aggressive drive

(C) Fear drive

(D) Biological drive

‘Birds of a feather flock together'. The
statement demonstrates law of
\(A']/Similariiy

() Continuity

(C) Nearness

¥{E2) Common region




vl 30 A O A S |

(A) St % gem i &

(B) <t % weom 2 3l %

(C) e 3 werm 2 i el ¥
(D) e % yam ui= =9 F

. Who propounded psychosocial theory

of personality development ?
(A) Freud (B) Sullivan
\(Gy Erikson (D) Jung
object format and perception format ?
\(A)-Perceptual leaming
(B) Nusion
(C) Delusion

(D) Hallucination

27 Infantile amnesia is the inability to
remember experiences during
(A) First year of life
(B) First two years of life
(C) First two or three years of life
(P} First five years of life

PG-14/B



@ A A
 (8) e A e A
() m A A gfE

(D) Ivfa avft

30. wreyartas &1 i ed € f
T (A) & Ragrdt FA
(8) &M = = wel # #
(C) wwr= faedt sgfia &1 20
(D) =afFEl & &t # ST

31, afe viwr whe i o5y & S AF
W e & A o uEl IR A & H

A =51 zerewor v Far ¢ (|

(A) 3T=aftE TR

(B) =T&I JE=RT

(C) 2T 3T-afta F =Te T
(D) A1 AT R 1 8 ATl

JER

T o e A o Ty fifee S T
& wfe dregen 7 v AT ST g 7
(A) | FAfaa

32.

10

@ Inemotional response

30,

31.

32.

(C) Dis-sociable subsystems
(D) Associative subsystems

shall I
oceur, '

JA&T Tncrease in sweat gland activity

(B) Lowering of skin resistance
(C) Rise in skin conductance

\(DY"All the above

Why communal riots occur ?

(A) Awareness of tenets of religion

(B) Contact between rioting groups

(CyRepression of anti-social
tendencies

(D) lgnerance about people

Promise of gifting a watch, if Ramesh

achieves above 95% marks in

examination exemplifies

(A) Intrinsic reward

xtrinsic reward

(C) Both intrinsic and extrinsic
reward

(D) Neither intrinsic nor extrinsic
reward

In which field of psychology memory
capabilities of victims and witness to

crimes are studied ?
(A) Social psychology
(B)-Community psychology
(C) Developmental psychology
\LB‘)/ Cognitive psychology




i 3 '
_-'Ijg-m.atw-ﬂsmﬁmﬂrt

11

(8) Expression of fle
interviewer

(C) Expression of non-circularity in
interview situation

Monwminnwiﬂlam

35. Which of the following is not one of the
Big Five personality factors ?
YA)ySubmissiveness
(B) Agreeableness
(C) Extroversion
(D) Openness of experience

Researches on whom provide evidence
that perception is innate ?
(A) People born blind
(B) | ﬂlants
\gngmh people born blind and
infants
(D) None of the above

97. From the point of view of experimental

operations, classified variables are

(A) Relevant and mediating
variables

(B) Qualitative and quantitative
variables

(C) Active and aftribute variables

(D} Dependent and independent
variables

PG-14/B



(DYl of the above

40. Voluntary control over physiological
Processes can be obtained by using
principles of

(A¥ Psychosomatic medicine
(B) Cognitive medicine
“ - . (C)_Behavioural medicine

(D)_Humanistic medicine

(D) waaraTd fafam

41. ZEW 7 drgd wgy =38 I FEE @ While learning to type, when conflict

G , occurs between higher order and lower
i 7

Hawi v dard order learning ?

(A) 31T 311za # 1%z FrEa § wEe (A) Shift from letter habit to word

(B) ¥1%= e A 3 A1Zd § a2 habit
§ (8)-Shift from word habit 1o letter

(C) 3387 31vza A 1ez 39127 1 #1f aee e

7 (C) No shift from letter habit to word
(D) ¥1e2 372 B 338 A1za & #18 wzem habit

e (D) No shift from word habit to letter
habit

PG-148 12 A



1

{c:] wraTfEl 3 =EEn & FEvm g
(D) =Tl % g ¥ favam |

L, T ST R S

e e

(A) T TEe EET R =
(B) T 3T F=31

(C) TR e 1 A S

(D) &HR Wi A qE

45, = P =t =1 2 et et v,
1 frfEfe % 1= AT e e 8
7 7z feufa &l 2
(A) sfter-afEn 22
(B) HITHA-3TTHA 55
(C) FTHA-9ET 22
(D) fafira s - wfiEm €

%

13

oy gt T

43. A person who viaﬂs dentbt mm
M"’Hﬁ.iﬂ'l protective behaviour
(B) Compuisive behaviour

(C) Modelling of parental behaviour
(D) Belief in decay of tooth

According to.Garl Jung, collective
UNCONSCIoUS iS a8 Common reservoir
of images derived from
{(AY Our early repressed desires
(B) Our unfulfilled desires
(CY"Our ancestors' universal
experiences
(D) Our early sexual tensions
When an individual is caught between
two repelling threats, fears or situations,
itisa
(AyAvoidant-avoidant conflict
(B) Approach-approach conflict
(C) Approach-avoidant conflict
(D) Multiple approach-avoidant
conflict

45.

PG-148.



47, mmﬂﬁﬁliﬁﬂﬂ‘;ﬁmwﬂ
A) {&aﬁnﬁum*F e
Eipr=11
(B) T (wrer) wpar § @l
(C) =i g3 & =i
(D) =iy ameh & gzevad 3 @

48, Tl ) sl w1 s v R
wazfazt? ;’
(A) TRETETE Rigia
(B) wFTTeHa fagia
(C) wmaferes - wiepfae: v
(D) =TT fagra

49. AW-_N (WAIS-R) ¥ T9-vfigul 7
% FEN HeAE Gy |
(A) &t & wu

(B) 9ITEA & W

(C) Hg-ww

(D) wErga fteed & sfafifimg

PG-14/B 4

(NCEFIT} fBr guil:larnn W -

11-14 years children in

(A) Developing problem-solving ski

(B) Preparing for a career
Enhancing self understanding

(D) Prevention of violent behaviour

In retrograde amnesia, which of the
following kind of problem is seen ?

(A} Problems with recalling previously
learned material

\(BY Problems with face recognition
(C) Difficulty finding routes
(B) Poor encading of verbal material

@ Which theory focusses upon the study
of potential of human beings ?

(A) Humanistic theory

(B) Cognitive theory

(C) Socio-cultural theory
\MPsycho-dynamic theory

(49.  Sub-tests of WAIS-R are numbered
according to

(A) Order of difficulty
(8) Order of administration
Age-levels

(D) Representatives of normative
sample




.L_--'-E-:r o7 = iy 50. According o Freud, h of the
! g R7 following control most, not all
(A) TR ST behaviour ? gl
(B) TreTee SR (A) Conscious experience
(C) E L] %Gjﬂalall perception
: NCoNScious
T S (D) Observable experience
firan Himr 1 witaTfia
- A mﬁ * h:mt 51. Ditference threshold is defined as
(A) bbb ar Quality of stimulus
(8) FfRA1 1 I % w3
¢ (B) Quality of response
(C) “'i@'_ &t i (C) Statistical quality
(D) SR TR (D) Non-statistical quality
52, JqoA 9% % foFe T W SR wa 52. On which level of arousal curve
ayfirer s Bl ® 7 attention is most effective ? |
(A) FereH T F e TR (A) Atthe lower level of arousal curve
(B) mﬁ%ﬁmm (B) At the higher level of arousal curve
() T T F ST | i i e et
5 » At the lower and higner leve
(D) I TH F fiae s w I" amusal curve
c3 fape altEw # fagataa i 386 53,1 There is a direct relationship between
e 3 o ey T R the reliability of a test and its length
() TE FEH FHIT EE B '{A‘}”TNIS staternent '1Is always true
g | (B) This statement IS lalse
(B) = : ' (C) This statement is true under
(C) 39 feuferd # e FoA w1 @ certain conditions
(D) TE T=H ECiRAGIE (D) This relationship does not hold
54, FIE I AT sfrenfa # wma § 3R 44, Which of the following is responsible
forty Frrifina o & F-91 Tt e 7 for increase ::;i sacre'inn in outward
RAR expression of anger ?
(A) (A) Epinephrine
(B) A T (B) Nor epinephrine
() ozt o (C)-Pituitary gland
(D) Bga (D) Medulla
15 PG-14/E



() MfEw afe 71 5Ew
= (D) Fitfia= 3fs F1 &5F

58 mmvf w = s EdeeE | S8,

A Pefefas d a FR-ad ? :
(A) weafuge

[ (B) w%a g
(C) 57: Ty (7))

(D) gAmm
59. | W 8§ = af=fza 2 7
(B) amfors waer

(C) wveq, zudl it werl & ant 4
e

(D) Fad gl & an # wraar
%;w ]

.

59.

All our thoughts and feelings about
“What can | do” are referred to as
1aySeli-Concept

(B) Serl_f-,Eml'l

(C) Self-Worth

(D) Seli-Efficacy

Intelligence Quotient (1L.Q) is a
(A) Norm

(B) Raw score

(o)) Score of verbal intelligence

(D) Score of non-verbal intelligence

Which of these is the most sensitive
measure of memory ?

(A) Recognition

{B)\-Cued-Recall

(C) Re-learning (saving)

(D) Recall

What is involved in social motives ?
(A) Psychological balance
(B) Social balance

Malings about self, others ani
relationships

(D) Feelings about relationships
only

|



| _muﬁ%‘lﬁi e TR
il ol A SR A E S
1 1'51*%%“%" th

2. A HA H = T |
ﬁﬁin&aﬁwﬁ%a@ﬂmmm
A iR |
(A) Faw 1T R
(B) ¥ 27 @
(€) 132 TR R
(D) 1 30 23 T TR R

5o e geR e 78 A e en T
g T Wi W R
(A) FEAZ (B) S&A
(C) wefahr (D) wiieer

ﬁqﬁ!ﬁaiﬂﬁmmaﬁﬁﬁ

EocE G
(A) whiegor-g: THE
(B) defcae ¥4
(€) v qar
(D) 3 -farera

._th\riba
(B)

)} .vucatinhul mkiuma

62. To produce best fit between job and
prospective employees industrial
psychologists attempt to search
people who

1. Are best suitable for the job.

2. Will enjoy their work

Choose the correct answer using the
code given betow.

(A) Only 1 is correct
(B)-Only 2 is correct
\{CYBoth 1 and 2 are correct
(D) Both 1 and 2 are incorrect

63. Who first gave the motion that memory
is based on constructive process 7
(A) Bortlett (B) Jackson

(C) Atkinson (D) Lockhort

Out of the following which one is nota
method of measuring reliability ?

(A) Test-Retest

(B} Alternate-form

(C) Predictive

(D) Split-Half

17 PG-14/B




mmfﬂ%ﬁﬁwmﬁ“
<o § e TR A
£, a5 @ Sgf@ = ¢

(A) S S

(B) I s

(C) S ST

(D) wfraen stfems

Frfefias § @ feam A I
SqaER & R0 F = § 78 R !

(A) s
(C) iz

aags R d e 2
1, = Az
E_Gﬁh@%iﬁﬁﬁmﬂuq&ﬂﬂﬂﬁa
a1 24
19 22 m &4 1 e 8 qé 3w
&1 994 #ifad |
(A) %ae 1 6El 2
(B) Faci 2 6l 2
(C) 132z ad1 &
(D) 13 22 5ét =¥ &

PG-14/B

68.

18

of sun  an objeciig
ﬁ'::m' of motives on

(B) |
pamapﬁnn
(C) Influence of emotions on
perception _
(D) Habit of engaging in reality
tesling
Inability to recognise objects ang
meanings due to damage in the braiy
is characteristic of
(A) Agraphia
\(Cy‘Amnesia

‘Drivers move their vehicle at greg,
traffic light and stop at red traffic lighy
the statement illustrates
\(Ay-Operant conditioning

(B) Classical conditioning

(C) Observational learning

(D) Contiguity leamning

(B) Alexia
(D) Agnosia

67.

Which of the following has not been
studied as a cause of aggressive

behaviour ?
(A) Marijuana (B) Frustration
J(C)Pain (D) Alcohol

69. Vocational guidance implies

1. Educational guidance
2. Providing reliable and dependable
information about careers

Select the correct answer using the
code given below

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct
(D) Both 1 and 2 are incorrect



7. RTE 1 TR HoFa A £ fin
1. ORI T o oy v g |
2. o 1 R stfiremon & e |
e e 17wt <61 3T 0
maﬂ?ﬂ'ﬁf&l
(A) Fae 1 2
(B) Faw 2 el 2
(C) 13K 2 21 et &

(D) 1 3R 2 31 wet e &

73, wherdi 1 sEfEn W e w4 H
TETIN 1 WS FEd 8
1. 3y yftgqoie sfasamft
2. EH Yoo wfagfe
19 & 3wl =1 3991 0 |e 3w
&1 997 Fife |
(A) a1 1 T 2
(B) Faei 2 wEl 2
(C) 1 3R 2 21 wet &
(D) 1 31K 2 2 =t &1 &

19

s

72.

73.

- Which schedule of reinforcement

generates the highest rate of
responding and the greatest
resistance to extinction, 7

(A) Fixed ratio schedule

(B) Fixed interval

\(G¥ Variable ratio scheduyle
(D) Variable interval schedyle

Which view of memaory is similar 1o
office filing system ?

(A) Cognitive view of memory
\(BY Behaviouristic view of memory
(C) Neurological view of memory
(D) Social view of memory

Schema of a theory implies that

1. Hypothesis is a specification of
theorem

2. Theorem is a deduction from
postulate.

Select.the correct answer using the
code.given below

(A) Only 1 is correct

(B) Only 2 is correct

(Cj Both 1 and 2 are correct
(D) Both 1 and 2 are incorrect

Influence of expectations of tester on
responses of testee is known as

1. Self-fulfilling prophecy

2. General motivational feedback
Select the correct answer using the
code given below
(A) Only 1 is correct
(5) Only 2 is correct
(C) Both 1 and 2 are correct
(D) Both 1 and 2 are incorrect

PG-14/B



Fo4 =1 8
(C) T2z ==& H
& 4 :
(D) wham & avds dmeE & e N

fram # 2

77, wfes Tl @ st T
fairdiam # A T fo
o FEA R |
(A) TE1 & 7 A FEEdl
(B) gitego aftfeafa
(C) whevral 4 vfeem
(D) I &+
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76.

77,

mmal emimnmﬁntai_[ BN
::mlin encies. This is the view c

=havioural model :
(B) Medical mndo':ilai !
C) Cognitive m gifiln
ED% psychoanalytical model :5-

Preamble of Mental Health Cmn;?\‘

2017
(A) Talksabout problems of aggressig,
andviolence
\(By Promises to provide mental
health care services for mentall
ill persons
(C) Talks about problems of intem
addiction

(D) Takes into account the significa
contributions of family

Group tests can be differentiated fr

individual tests on the basis of

(A) Form and arrangement of iten
(B) Testing situations

(C) Role of tester

\() Al of the above



- HHATEI miﬁm ﬂﬁ?ﬂﬂﬁﬁﬁﬁ H-
feaded® 7 i

21

81.

B2.

(C) Affirmative action pr

(D) Accuracy of impression formation

:ﬁ.dvcy‘of educational guidance

ividual differences need to be

recognised

(B) Insignificance of relationship
between guidance workers and
teachers

(C) Future plans are salient, present
can be ignored

(D) Usage of variety of methods is not
advantageous

Why parallel lines appear to converge
in the distance ?

(A) Interposition

(B) Linear perspective

(C) Atmospheric perspective
(D) Texture

‘According to Beck depressed people
always see negalive consequences’.
This statement demonstrates

(A}~ Selective abstraction

(B) Global attribution

(C) Maximization and minimization
(D) Polarization

PG-14/B




(B) Tt 7 i afwedia Fae
(C) w5 faan FEvR
(D) shfira 3 wiea fafEen

6. AR TR
L L

(A) ZrEe
©

g7. wafeys sEaE SaTE® v 8 16
safardl # 3van & fod wga e
£ | 78w Fafia a8
(A) FEA 3w 1 fave
(B) s sifEE #1 faweim
(C) sa-u7 w1 374
(D) Fa=A srgfoman 1 geeyfa

PG-14/B

84. Basis of quantification of beha
observational studies is
(A) Frequency method
(B) Duration method
(C) Interval method
\(BY Al of the above

85. What are the two ways in which
psychological disorders can be treateq 9
(A) Hypnosis and counselling
u&r‘ﬁ sychotherapy and biomedicy
therapy
(C) Counselling and guidance
(D) Madicines and surgery

865 Who propounded the classification of
individuals into personality type onthe

basis of body build ?
'(w;ldm

(A) Tylor
(C) Jung (D) Bandura

(ﬁ?. ‘Systematic desensitization is used
~  for treatment of people with irrational
fears’,. This statement demonstrates
,\_{ﬁ}"'ﬁiscriminaﬁnn of conditioned
response
(B} Disappearance of conditioned
response
(C) Acquisition of conditioned
response
(D) Re-emergence of conditioned
responses



_:'rs-':. 13 2 21 el 78l &
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1.

1 Anteaedentncu'bdiﬁnnsarp
presented in first part of

hypothesis.
2. Consequent conditions are

presented in second part of
hypothesis

Select the correct answer using the

code given below

(A) Only 1 is correct

(B) Only 2 is correct

(€Y Bolh 1 and 2 are correct

(D) Both 1 and 2 are incorrect

The'lasting behaviours, thoughts
and'emotions that specify how do we

react and adapt to other people and
situations make up our

(A) Attitudes (B) Beliets

(C} Personality (D) Intelligence

Sense of the location of body parts in
relation to the ground and each other
is called

(A) Vestibular sense
(B) Olfactory sense
-Minesthatic sense
(D) Visual sense

PG-14/E



95.

e Pt i 1 R T
S vt < s SRR A
Bt FmFEae ! 8
(A) HATZifFieah SFTER - ‘|‘
(B) Wiawata sq=en

(C) gdfe =Faer

(D) Toramsaa =aaer

w7 3ifa fa v @ ) e ge AW
AR YFHS T4 | e % g A A
Frapei 1 8 3 T e A ST
e 2R 1 T TS T FF
# w7 %1 faeed 91 | 98 O R
(A) WATEH 202 I

(B) ATeHE JAdEH F

(C) Tmeen greer =i

(D) TAdaTeHe 3v8 F
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93.

®

95

96.

Greater detail about b

experiences of job-applica

in 4

(A) Biographical inventories
(B) Application blanks

(C) Recommendation forms
\(D)Reference reports

The number of cycles or Wﬁ
sound wave per second determingg

Ay Pitch f

(C) Timbre

(D) Amplituge

Verba! behaviour that is rainfow
when someone else's verbal respong
is repeated verbation is called
(A) Autoclitic behaviour
(B) Echoic behaviour
(C) Reinforced behaviour

. (D) Operant behaviour

Ramesh was caught thrice for
exceeding speed limit while driving,
Among the two choices given by
court he chose to attend the driving
classes instead of loosing driving
license. This is an example of
{A) Positive punishment

(B) Positive reinforcement

(C) Negative reinforcement

(D) Negative punishment
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9. An analysis of observational leaming
_acknowledges that

1. Principles of reinforcement
influence behaviour

2. Individuals have the capacity to
use their cognitive processes.
Through this they can change
their behaviour with cognitive
rewards and punishments.

Select the correct answer using ihe
code given below

(A) Only 1 is correct

(B) Only 2 is correct

(C).Both 1 and 2 are correct
(D) Both 1 and 2 are incorrect

PG-14/B
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(B) Uy F @
(C) § warrt & FT
(D) it wewT @

102, R st i 3 SEER A
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(A R E
(B) =mer €A
(C) weanfira wftom
(D) aTfars aftomd

103. Welve oo
(A) T frara=
(B) @9 fwam=
(C) = 3iit 7@ faFam=
(D) =1 €= 71 7 fraa=

2 foat 3 g % o wam A
wfeafit = v BwTE # 0w

% @12 YeaA & ford Fen | T
aftfeufa # e wriE 3w I
(A) e &9 & Ta fasem s
(B) gmferh ¥9 & HU e F1&
(C) anfe sred g9 fareem #r

(D) Hifes o3
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104.

 drug ¢
IGJ Fmpﬂrpantwl
(D) Suhjmt variables

Which type of persons ﬂmﬂm

stress more often ?
(A) Type D persons
(B) Type A persons |
(C) Type E persons
Type B persons

What drives human behaviour

according to social learning theory ?
(A) Internal forces

(B) External stimulation
M:ticipatad consequences

(D) Actualconsequences

@/ Incentive motivation is a form of

104.

Push mechanism
(&) Pull mechanism
(C) Pull and push mechanism
(D) Neither pull nor push
mechanism

After one week interval, participants
of an experiment on recall of cued
pictures, were asked to recognize
the pictures. In which of the following
condition recognition scores were
higher ?

(A) Physically similar destructor

(B) Socially similar destructor

(C) Prototype similar destructor

(D) Original picture



107. Guidance is based on the following
concept

(A) Each person has the right to
choose his way of life

(B) Each person has the right to

aose the way of life for others

Each person has innate ability to
make intelligent choices

(D) Each person has the right to put
responsibility of self on others

/@ Event sampling is characteristic of
(A) Quasi-experiments

(B) Case study

{C)-Observation

(D) Interview

109. In Rorschach Ink Blot Test, responses
reflect

(A) Our inner conflicts

(B) Our inner exzsperience

(C) Our inner feelings

() Our inner conflicts and feelings

27 PG-14/B
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(A) e 7
e i
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(A) BmEE SgEEA €
(B) Fe=ad FFEH
(C) srgtem g
(D) FrefeEm g

113, w= =5fda g0 =eg #1 2@d ¢ 41 A0
w AET ___ wpm EmamR |
(A) ofag
(B) 39
(C) witdm 3w & woghar
(D) WaATHF AT
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111,

T

113.

(C) Placebo effect
(D) Effect of encouragement

Among the following "th:lamh
relative importance of hgmdﬂy ang
environment in moulding of personaiiy ;
(A) Traits

(B) Feature of the environment

(C) Scope of environmental forcag

\(DyAll of the above

Which temporal pattern results in mos
effective learming 7

1

(A) Simultaneous conditioning
(B) Background conditioning
\(C) Trace conditioning

(D) Delayed conditioning

When individuals look at a distant
object, size is judged by

(A} Perspective
(B) Object

(C) Compromise between perspective
and object

(D) Sensory features
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fergia 41 & 7
(A) e Sl T
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115.

116.

{D} Mulhpla pamunaltty cian:dar

‘Expectation of long straight drive keeps
a golfer at the game despite many balls
lost’. This statement illustrates

(A) Secondary reinforcement
Maﬂia& reinforcement

(C) Pnmary reinforcement
(D) Complete reinforcement

Among the following which one is not
a projective test ?

\(A)"Minnesota Multiphasic Personality

117.

Inventory
(B) Somatic Ink Blot systems
(C) Thematic Apperception Test
(D) Rorschach Ink Blot Test

Among the following which one is not
a theory of intelligence ?

(A)-Coci's biological theory
(B) Anderson's theory

(C) James-Lange theory

(D) Gardner's theory
PG-14/B



118.

120.

121.

ST A1, 398 ahed F

3 T i e g e
(A) SfF= glE =

(B) foarza gfe e =1

(C) Ivafe wiigm F

(D) =awEIfE aftgwa whEm H

Frerfoon ot =4 i 1 Ffeal B A
¥ | vz g 32 Aoft formd yamiee
w32, Fewa Ffe, Fwe IR =
¥ yafa Ffe sl 8, 1 #wq €

(A) Fad 7R

(8) famm 32

(C) e qfe

(D) fmrea 3f
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118.

119.

120.

121.

salesperson getting a bo US for
achieving sales target 7

(A) Primary reinforcement
(B) Secondary reinforcement

\(Cy Consequent reinforcement

(D) Probability of reinforcement

Impulsiveness is not governed by

(A Know and go system

(B) Stress
(C) Choice of immediate rewards

(D) Doing a less effortful task

Mechanical ability tests for pmdiuﬁm
success in jobs requiring mechanica
skills are part of

(A) Personality tests

(B) Performance tests for intelligence
(C) Achievement tests

(2} Vocational aptitude tests

Ratings are subject to varieties d
errors. One general class of errol
consisting of the ‘halo effect; error d
severity, error of leniency and error d
central tendency is called
\(8) Constant errors

(B) Contrast errors

(C) Logical errors

(D) Proximity errors



#a & i s dega @ | A RRaEm
- DR wE?
(A) 9
(B) ¥4
Tl (C) wE=d
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105, firm 3 weare A wafu d oft a3 A
& Fgafa & 7
(A) 4. T8. T. (B) 3. .
(C) smefem (D) W

124.

125.

_'{'r-:'} Both 1 and 2 are correct
(D) Both 1 and 2 are incorrect

Coronary heart disease is related 1o
(A) Type D behaviour
C behaviour

® T
\(prf:;: B behaviour

(D) Type A behaviour

Your hear is racing, your breathing
is rapid and your mouth is dry. What
emotion are you experiencing ?
(A) Anger
(B) Fear
(C) Happiness
(T) It is not always possible
to distinguish emotions by
physiological reactions only

in which country wages for strikes ar
permissible 7

K

(A) USA (B) UK
(C) Australia (D) India
PG-14/



